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m=1.0; //BEE \

c=1.0; J/F N M +—»F
k=1.0; /18 _W_

xgoal=1.0; //BEE

x=0; //ERTEH X
v=0; [/BRIERE
dt=0.1; // el fidl B
xrecord =[]; //T—73EE 8k
for t=1:300,

a = (F - k*x - c*v)/m;
v = v+a*dt;

X = X+v*dt;

xrecord = [xrecord,x];

end time
lot(xrecord);
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// Draw initial figure

figure(1);

plot(xrecord(1),0,'0');

h_compound = gce();
h_compound.children.mark_size = 20;
h_compound.children.mark_background = 2;
h_axes = gca();

h_axes.data_bounds = [-1.5,-1.5;1.5,1.5];

// Animation Loop

i=1;

while i<=length(xrecord)
drawlater();
h_compound.children.data = [xrecord(i),0]; drawnow();
i=i+1;

sleep(10);
end
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(3#8) pythona— F

import matplotlib.pyplot as plt T A—Iq 8558

}mpor't math import matplotlib.pyplot as plt

import numpy as np import math

m=1.0 import numpy as np

c =1.90 import matplotlib.animation as animation
_ fig = plt.figure()

xgoal = 1.0 m=1.0

dt = 0.1 c=1.0
= k =1.0

x =0 xgoal = 1.0

v=20 dt = 0.1

time = np.arange(0,30.0,dt) |x =

record = list() v=20

. . . time = np.arange(0,30.0,dt)
for t in time: record = 1ist()

if(x<xgoal): for t in time:
F=1.0 if(x<xgoal):
else: F=l.0
else:
F=0.0 F=0.0
a = (F-k*x-c*v)/m a = (F-k*x-c*v)/m
v = v+ardt v = v+atdt
X = x+v¥dt X = x+v*dt
im = plt.plot(x,0,marker="0")
record.append(x) ims.append(im)
plt.plot(time,r*ecor‘d) ani = animation.Ar‘tistAnimation(Fig,ims,intervail::”fa)
plt.show() pLt.show()
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F= 0.3
a=(F-k*x-c*v)/m; |
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X = X+v*dt; 1
xrecord = [xrecord,x]; o1 }
end 0O
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dt=0.1; / /B Fidl el B 1
xrecord =[]; //Ee 8k A ‘-Zj
for t=1:300, iy oo T -
F=10.0 * (xgoal-x); 0.8
a = (F-k*x-c*v)/m;
v = via*dt; 0-6j
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0.085

for t=1:300,
F=0.1 * (xgoal-x);

v = v+a*dt;
X = x+v*dt;

end

W(xrecord);

a = (F-k*x-c*v)/m;

xrecord = [xrecord,x];
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dt=0.1; //BFfEfE =
xrecord =[];//T —43 % A
P=0.8; //PRX 5

1=0.05; //IFL %

for t=1:300,
p_seibun =
i_seibun= _
F=
a=(F-k*x-c*v)/m;
v = v+a*dt;
X = x+v*dt;
xrecord = [xrecord,x];
end

plot(xrecord);
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v = v+a*dt;
X = x+v*dt;
xrecord = [xrecord,x];
end
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plot(xrecord);
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